4 I ler e TN 3 ! j
— tiraslf N ’%?E‘I‘BT&%;S (i ! i = wmu'{mm.mu.
(1/200,000)
st (+) SESIEINLE $ THIR
xIL— 1 e = _ _
TS EEHR S LHRERR TR EAS %0 100
‘fﬁﬁ pE i A
Tt ith FH SR SRS
. RS ORIBBE200000 CE R EIR) K UBIB HH25000 Ch I EIR) £ MAELT- L0 Ch o, GRAES T29THL. F6453)

COMEE, B IR RO RR




THXEERREFOREDATICERLIRE

(D 2)

x 100m

L 4
L I I I I I I I I I =

0 1

T HLS DRI

*%Et_ 2 (:t) TEREFMEARTCE CEOREIL LT HR }Nx %%i}%% :tE;)IKL I;Iﬁg% 486—] 668—3
o= - | <4< = . . tEifja)?.'éﬁiw mEZAES qu%;a) i
;f’i%%mgﬁ - TR R EE A AR X5 : #%\;ﬂk&-’éi}#};n(lkN/‘ B : P BEREREINS T )|
) 5 % .ER
) 2% |exsRn |[FMSE2AE it  FRSTORSEEE




